Client: Sunday Times

Agency: panelbase.com

Universe: Adults resident in Scotland

Methodology: Online panel

Sample size: 1004

Fieldwork dates: 10 - 16 May 2013

Weighting: All the results were weighted by age, sex, household tenure and SEG, and filtered on 8-10 likely to
vote in an election tomorrow. Respondents who voted in the 2011 Holyrood election were weighted back to the

actual election result.

Further enquiries: ivork@panelbase.com



Base: 834 Total Gender x Age Q8. Should Scotland be an
independent country?
Male x | Male x i Male x : Female ; Female ;: Female Yes No Undecid: Would
18-34 i 35-54 55+ ix 18-34ix 35-54i x 55+ ed not
vote
Total 834 103 156 139 106 156 173 302 363 164 5
(837) (111)i (155)i (143); (113)i (174); (141)] (292); (398): (146) (1)
100%| 100%;: 100%: 100%;: 100%: 100%: 100%| 100%: 100%: 100%: 100%
Q1. Please select your gender.
Male 399 103 156 139 0 0 0 174 168 57 0
(409) (111): (155); (143) (0) (0) (0)[ (167)i (188) (54) (0)
48%| 100%: 100%: 100% 0 0 0 57% 46% 35% 0
Female 435 0 0 0 106 156 173 129 195 107 5
(428) (0) (0) (0)i (113): (174): (141)] (125): (210) (92) (1)
52% 0 0 0i 100%: 100%: 100% 43% 54% 65%: 100%

Q2. Which of these age groups
do you fit into?

18-24 73 29 0 0 44 0 0 27 28 18 0
(81)]......(37) (9) (0);i.....(44) (9) (0)).....(26)5....(4L)i ... (14) (9)

9%|  28% 0 0: 42% 0 0 9% 8%: 11% 0

25-34 136 74 0 0 62 0 0 49 55 32 0
(143))....074) (9) (0);.......(69) (9) (0)).....(51):...(60): . (32) (9)

16%| . 72% 0 0i  58% 0 0. 16%:  15%:  19% 0

35-44 115 0 58 0 0 57 0 42 56 18 0
(136) (0);......(67) (9) (0);......(69) (0)).....L45)5 ... (6L ... (27) (9)

14% 0: 37% 0 0: 37% 0| 14%: 15%: 11% 0

45-54 197 0 98 0 0 99 0 83 76 38 0
(193) (0);.......(88) (9) (0);....(105) (0)].....(76);....(87); ... (30) (9)

24% 0i  63% 0 0i  63% 0|...27%;  21%:  23% 0

55-64 196 0 0 89 0 0 107 67 92 37 0
(176) (0) (0);......(84) (9) (0)i.....(92)]....(62); .. (84): .. .(30) (9)

24% 0 0: 64% 0 0i  62%| 22%: 25%:  23% 0

65+ 116 0 0 50 0 0 66 35 55 21 5
(108) (0) (0);i.....(59) (9) (0):...(49)] ... (32)i . .(62): . (13) (1)

14% 0 0i 36% 0 0i 38%[ 12%: 15%: 13%: 100%




Base: 834 Total Gender x Age Q8. Should Scotland be an
independent country?
Male x | Male x i Male x : Female ; Female ;: Female Yes No Undecid: Would
18-34 i 35-54 55+ ix 18-34ix 35-54: x 55+ ed not
vote
Total 834 103 156 139 106 156 173 302 363 164 5
(837)| (111)i (155)i (143)i (113)i (174); (141)] (292); (398)i (146) (1)
100%| 100%;: 100%: 100%;: 100%: 100%: 100%| 100%: 100%: 100%: 100%
Q3. And who did you vote for
with your regional vote?
SNP 347 41 80 60 36 60 70 216 72 59 0
(344) (43) (76) (64) (38) (69) (54)|  (212) (69) (63) (0)
42% 40% 51% 43% 34% 39% 40% 71% 20% 36% 0
Labour 231 30 45 39 34 37 46 46 113 68 5
(188) (26) (40) (29) (25) (40) (28) (33); (106) (48) (1)
28% 29% 29% 28% 32% 24% 27% 15% 31% 41%: 100%
Conservative 106 6 14 27 4 25 30 6 95 4 0
(119) (10) (18) (30) (8) (26) (27) (7);...£108) (4) (0)
13% 6% 9% 19% 4% 16% 17% 2% 26% 3% 0
Liberal Democrats 54 9 5 7 5 13 15 7 39 7 0
(62) (13) (4) (9) (8) (13) (15) (6) (49) (7) (9)
6% 8% 3% 5% 5% 8% 9% 2% 11% 5% 0
Greens 5 0 1 0 1 1 1 2 3 1 0
(23) (2) (4) (2) (3) (3) (3) (8) (11) (4) (0)
<1% <1% <1% <1% 1% <1% <1% <1% <1% <1% 0
Other 3 1 0 1 0 0 1 2 1 0 0
(9) (1) (2) (3) (9) (1) (2) (6) (2) (1) (9)
<1% <1% <1% <1% 0 <1% <1% <1% <1% <1% 0
Did not vote 70 13 12 3 21 15 6 23 32 15 0
(71) (15) (9) (4) (25) (12) (6) (18) (40) (13) (0)
8% 13% 7% 2% 20% 9% 4% 8% 9% 9% 0
Can't remember 18 2 1 1 4 6 4 1 8 9 0
(21) (1) (2) (2) (4) (8) (4) (2) (13) (6) (9)
2% 2% <1% <1% 4% 4% 2% <1% 2% 5% 0




Base: 834 Total Gender x Age Q8. Should Scotland be an
independent country?
Male x | Male x i Male x : Female ; Female ;: Female Yes No Undecid: Would
18-34 i 35-54 55+ ix 18-34ix 35-54: x 55+ ed not
vote
Total 834 103 156 139 106 156 173 302 363 164 5
(837)| (111)i (155)i (143)i (113)i (174); (141)] (292); (398)i (146) (1)
100%| 100%;: 100%: 100%;: 100%: 100%: 100%| 100%: 100%: 100%: 100%
Q4. And who did you vote for
with your regional vote?
SNP 343 38 74 68 37 50 76 206 70 62 5
(324) (42) (68) (63) (33) (64) (54)] (201) (63) (59) (1)
41% 37% 47% 49% 35% 32% 44% 68% 19% 38%: 100%
Labour 190 21 38 31 29 34 37 36 108 46 0
(191) (20) (40) (30) (27) (44) (30) (33); (116) (42) (0)
23% 20% 24% 22% 27% 22% 21% 12% 30% 28% 0
Conservative 95 8 14 20 4 24 24 5 84 6 0
(115) (11) (19) (26) (8) (26) (25) (7);...£102) (6) (0)
11% 7% 9% 14% 4% 16% 14% 2% 23% 4% 0
Greens 50 10 12 6 3 5 15 15 17 19 0
(39) (7) (8) (5) (4) (6) (9) (13) (15) (11) (9)
6% 9% 8% 4% 2% 3% 9% 5% 5% 11% 0
Liberal Democrats 39 4 2 7 5 10 11 5 29 5 0
(62) (10) (5) (11) (11) (12) (13) (3) (50) (7) (0)
5% 4% 1% 5% 4% 7% 6% 2% 8% 3% 0
Other 34 4 5] 5 2 12 6 11 22 2 0
(21) (3) (4) (5) (1) (5) (3) (9) (11) (1) (9)
4% 4% 3% 4% 2% 8% 4% 3% 6% <1% 0
Did not vote 58 10 12 1 19 14 2 22 25 12 0
(58) (12) (9) (2) (21) (10) (4) (19) (28) (11) (0)
7% 10% 7% <1% 18% 9% 1% 7% 7% 7% 0
Can't remember 26 8 1 1 8 6 2 4 9 12 0
(27) (6) (2) (1) (8) (7) (3) (5) (13) (9) (9)
3% 8% <1% <1% 7% 4% 1% 1% 3% 7% 0




Base: 834 Total Gender x Age Q8. Should Scotland be an
independent country?
Male x | Male x i Male x : Female ; Female ;: Female Yes No Undecid: Would
18-34 i 35-54 55+ ix 18-34ix 35-54: x 55+ ed not
vote
Total 834 103 156 139 106 156 173 302 363 164 5
(837)| (111)i (155)i (143)i (113)i (174); (141)] (292); (398)i (146) (1)
100%| 100%;: 100%: 100%;: 100%: 100%: 100%| 100%: 100%: 100%: 100%
Q5. If Scottish Parliamentary
Elections were to be held
tomorrow, how likely would 10 - Certain to Vote 651 59 126 127 69 118 152 256 276 115 5
you be to vote in that election? (661) (73)i (124); (134) (68)i (136): (126) (253); (307)i (100) (1)
78% 58% 81% 91% 65% 76% 88% 85% 76% 70%: 100%
9 106 25 15 9 17 30 9 35 50 21 0
(101) (21) (16) (7) (21) (28) (8) (25) (53) (23) (9)
13% 24% 10% 7% 16% 19% 5% 12% 14% 13% 0
8 76 19 15 3 20 8 12 11 37 28 0
(75) (17) (15) (2) (24) (10) (7) (14) (38) (23) (0)
9% 18% 10% 2% 19% 5% 7% 4% 10% 17% 0
7 0 0 0 0 0 0 0 0 0 0 0
(9) (9) (9) (9) (9) (9) (9) (9) (9) (9) (9)
0 0 0 0 0 0 0 0 0 0 0
6 0 0 0 0 0 0 0 0 0 0 0
(9) (9) (0) (9) (0) (0) (0) (0) (0) (0) (0)
0 0 0 0 0 0 0 0 0 0 0
5 0 0 0 0 0 0 0 0 0 0 0
(9) (9) (9) (9) (9) (9) (9) (9) (9) (9) (9)
0 0 0 0 0 0 0 0 0 0 0
4 0 0 0 0 0 0 0 0 0 0 0
(0) (0) (0) (9) (0) (0) (0) (0) (0) (0) (0)
0 0 0 0 0 0 0 0 0 0 0
3 0 0 0 0 0 0 0 0 0 0 0
(9) (9) (9) (9) (9) (9) (9) (9) (9) (9) (9)
0 0 0 0 0 0 0 0 0 0 0
2 0 0 0 0 0 0 0 0 0 0 0
(0) (0) (0) (9) (0) (0) (0) (0) (0) (0) (0)
0 0 0 0 0 0 0 0 0 0 0
1 - Certain not to vote 0 0 0 0 0 0 0 0 0 0 0
(9) (9) (9) (9) (9) (0) (0) (0) (9) (9) (9)
0 0 0 0 0 0 0 0 0 0 0
Mean score 9.7 9.4 9.7 9.9 9.5 9.7 9.8 9.8 9.7 9.5 10.0




Base: 834 Total Gender x Age Q8. Should Scotland be an
independent country?

Male x | Male x i Male x : Female ; Female ;: Female Yes No Undecid: Would
18-34 i 35-54 55+ ix 18-34ix 35-54: x 55+ ed not
vote
Total 834 103 156 139 106 156 173 302 363 164 5
(837) (111)i (155)i (143); (113)i (174); (141)] (292); (398): (146) (1)

100%| 100%;: 100%: 100%: 100%: 100%: 100%| 100%: 100%: 100%: 100%

Q6. If you did vote, who would
you vote for with your

constituency vote? SNP 334 46 75 63 35 50 65 234 43 51 5
(324) (45) (72) (64) (34) (62) 47)]  (225) (46) (52) (1)

40% 44% 48% 45% 33% 32% 38% 78% 12% 31%: 100%

Labour 224 26 51 29 31 38 49 38 134 52 0
(204) (25) (43) (28) (31) (41) (36) (28): (133) (43) (0)

27% 25% 32% 21% 29% 24% 29% 12% 37% 32% 0

Conservative 98 7 14 25 8 16 27 2 91 4 0
(115) (11) (18) (28) (12) (20) (26) (5);...(107) (3) (0)

12% 7% 9% 18% 7% 10% 16% <1% 25% 2% 0

Liberal Democrats 39 8 3 5 7 11 4 3 26 10 0
(44) (10) (3) (7) (8) (11) (5) (3) (33) (8) (9)

5% 8% 2% 4% 7% 7% 3% <1% 7% 6% 0

Other 30 6 2 4 1 7 11 9 19 2 0
(26) (5) (3) (5) (2) (4) (7) (9) (15) (2) (0)

4% 6% 1% 3% <1% 4% 6% 3% 5% 1% 0

Greens 16 1 4 0 3 8 1 4 9 4 0
(25) (3) (3) (2) (8) (6) (3) (9) (11) (5) (9)

2% <1% 2% <1% 3% 5% <1% 1% 2% 2% 0

Will not vote 0 0 0 0 0 0 0 0 0 0 0
(1) (1) (0) (9) (0) (0) (0) (1) (0) (0) (0)

<1% <1% 0 0 0 0 0 <1% 0 0 0

Undecided / don’t know 93 9 9 11 21 27 15 12 40 41 0
(98) (11) (13) (9) (18) (30) (17) (12) (53) (33) (9)

11% 9% 6% 8% 20% 17% 9% 4% 11% 25% 0




Base: 834 Total Gender x Age Q8. Should Scotland be an
independent country?
Male x | Male x i Male x : Female ; Female ;: Female Yes No Undecid: Would
18-34 i 35-54 55+ ix 18-34ix 35-54i x 55+ ed not
vote
Total 834 103 156 139 106 156 173 302 363 164 5
(837)| (111)i (155)i (143)i (113)i (174); (141)] (292); (398)i (146) (1)
100%| 100%;: 100%: 100%;: 100%: 100%: 100%| 100%: 100%: 100%: 100%
Q6. (excluding will not vote
and undecided)
SNP 334 46 75 63 35 50 65 234 43 51 5
(324) (45) (72) (64) (34) (62) 47)]  (225) (46) (52) (1)
45% 49% 51% 50% 42% 39% 41% 81% 13% 42%: 100%
Labour 224 26 51 29 31 38 49 38 134 52 0
(204) (25) (43) (28) (31) (41) (36) (28): (133) (43) (0)
30% 28% 34% 23% 36% 29% 31% 13% 42% 43% 0
Conservative 98 7 14 25 8 16 27 2 91 4 0
(115) (11) (18) (28) (12) (20) (26) (5);...107) (3) (0)
13% 8% 9% 20% 9% 12% 17% <1% 28% 3% 0
Liberal Democrats 39 8 3 5 7 11 4 3 26 10 0
(44) (10) (3) (7) (8) (11) (5) (3) (33) (8) (9)
5% 9% 2% 4% 8% 8% 3% <1% 8% 8% 0
Other 30 6 2 4 1 7 11 9 19 2 0
(26) (5) (3) (5) (2) (4) (7) (9) (15) (2) (0)
4% 7% 1% 3% 1% 5% 7% 3% 6% 2% 0
Greens 16 1 4 0 3 8 1 4 9 4 0
(25) (3) (3) (2) (8) (6) (3) (9) (11) (5) (9)
2% <1% 2% <1% 3% 6% <1% 1% 3% 3% 0




Base: 834 Total Gender x Age Q8. Should Scotland be an
independent country?
Male x | Male x i Male x : Female ; Female ;: Female Yes No Undecid: Would
18-34 i 35-54 55+ ix 18-34ix 35-54: x 55+ ed not
vote
Total 834 103 156 139 106 156 173 302 363 164 5
(837) (111)i (155)i (143); (113)i (174); (141)] (292); (398): (146) (1)
100%| 100%;: 100%: 100%;: 100%: 100%: 100%| 100%: 100%: 100%: 100%
Q7. And who would you vote
for with your regional vote?
SNP 322 42 74 65 38 46 58 225 43 49 5
(311) (45) (69) (63) (36) (56) (42)]  (221) (39) (50) (1)
39% 41% 47% 47% 35% 29% 33% 74% 12% 30%: 100%
Labour 194 23 39 23 26 36 47 30 119 45 0
(187) (21) (39) (23) (29) (41) (34) (23)i (124) (40) (0)
23% 22% 25% 17% 25% 23% 27% 10% 33% 28% 0
Conservative 96 11 15 19 7 15 29 3 89 4 0
(117) (15) (21) (23) (14) (18) (26) (5);...(107) (3) (0)
11% 10% 9% 14% 6% 10% 17% <1% 25% 3% 0
Greens 41 8 8 3 5 7 10 15 13 13 0
(42) (7) (6) (4) (7) (10) (8) (16) (16) (10) (9)
5% 8% 5% 2% 5% 5% 6% 5% 4% 8% 0
Liberal Democrats 40 7 4 9 4 10 6 2 30 8 0
(46) (9) (4) (12) (4) (9) (8) (2) (38) (6) (0)
5% 7% 2% 6% 4% 6% 4% <1% 8% 5% 0
Other 29 5 7 4 1 7 6 12 17 1 0
(25) (4) (4) (5) (2) (4) (6) (9) (15) (1) (9)
4% 5% 5% 3% <1% 4% 3% 4% 5% <1% 0
Will not vote 1 0 0 1 0 0 0 0 1 0 0
(2) (1) (0) (1) (0) (0) (0) (1) (1) (0) (0)
<1% <1% 0 <1% 0 0 0 <1% <1% 0 0
Undecided / don’t know 111 7 10 15 26 35 17 16 51 43 0
(107) (9) (12) (12) (21) (36) (17) (15) (58) (34) (9)
13% 7% 6% 11% 24% 22% 10% 5% 14% 26% 0




Base: 834 Total Gender x Age Q8. Should Scotland be an
independent country?
Male x i Male x | Male x | Female i Female { Female | Yes No iUndecidi Would
18-34 i 35-54 55+ ix 18-34ix 35-54} x 55+ ed not
vote
Total 834 103 156 139 106 156 173 302 363 164 5
(837)| (111)i (155)i (143)i (113); (174); (141)[ (292); (398): (146) (1)
100%| 100%: 100%: 100%: 100%: 100%: 100%)| 100%: 100%: 100%: 100%
Q7. (excluding will not vote
and undecided)
SNP 322 42 74 65 38 46 58 225 43 49 5
(311) (45) (69) (63) (36) (56) (42)] . (221) (39) (50) (1)
45% 44% 50% 53% 47% 38% 37% 79% 14% 41%: 100%
Labour 194 23 39 23 26 36 47 30 119 45 0
(187) (21) (39) (23) (29) (41) (34) (23);:  (124) (40) (0)
27% 24% 27% 19% 33% 30% 30% 10% 38% 38% 0
Conservative 96 11 15 19 7 15 29 3 89 4 0
(117) (15) (21) (23) (14) (18) (26) (5);...(107) (3) (9)
13% 11% 10% 16% 8% 13% 18% <1% 29% 3% 0
Greens 41 8 8 3 5] 7 10 15 13 13 0
(42) (7) (6) (4) (7) (10) (8) (16) (16) (10) (9)
6% 9% 5% 2% 6% 6% 7% 5% 4% 11% 0
Liberal Democrats 40 7 4 9 4 10 6 2 30 8 0
(46) (9) (4) (12) (4) (9) (8) (2) (38) (6) (9)
6% 7% 3% 7% 5% 8% 4% <1% 10% 7% 0
Other 29 5 7 4 1 7 6 12 17 1 0
(25) (4) (4) (5) (2) (4) (6) (9) (15) (1) (9)
4% 5% 5% 3% 1% 6% 4% 4% 5% <1% 0




Base: 834 Total Gender x Age Q8. Should Scotland be an
independent country?
Male x i Male x | Male x | Female i Female { Female | Yes No iUndecidi Would
18-34 i 35-54 55+ ix 18-34ix 35-54; x 55+ ed not
vote
Total 834 103 156 139 106 156 173 302 363 164 5
(837)| (111)i (155)i (143)i (113)i (174); (141)] (292); (398)i (146) (1)
100%| 100%: 100%: 100%: 100%: 100%: 100%| 100%: 100%: 100%: 100%
As you may know, the
Scottish government
intends to hold a Yes 302 47 74 53 29 51 49 302 0 0 0
referendum next year on (292) (48) (66) (33) (29) (35) (41)[..(292) (0) (0) (0)
Scotland becoming a 36%| 45%: 47%: 38%: 27%: 33%:  28%| 100% 0 0 0
Cﬁ”"try '"fdehpe”d?"tdfmm No 363 39 59 70 P 73 78 07363 0 0
Kinadam The question on 98| (a7 (66).  (75). (54 (85 (71| (0) (398)i _ (0): _ (0)
the ballot' is expected to be : 44% 38% 38% 50% 42% 47% 45% 0i 100% 0 0
as below. How would you Undecided 164 17 24 16 33 32 42 0 0 164 0
vote in this referendum? (146)[ . (16): . (23)i ..(19)i (30 (34 . (28] . (0) . (0) (146) . (0)
Should Scotland be an 20%|  16%:  15%;: 12%: 31%;: 20%:  24% 0 0: 100% 0
independent country? Would not vote 5 0 0 0 0 0 5] 0 0 0 5
(1) (9) (9) (9) (9) (9) (1) (9) (9) (9) (1)
<1% 0 0 0 0 0 3% 0 0 0i 100%
Q9. How would you be likely to
vote in next year's Scottish
independence referendum if 4. Very likely to vote for 266 45 62 44 27 43 45 248 3 15 0
the UK was looking likely to Scottish independence (260) (48) (58) (46) (24) (49) (35)] (241) (6) (13) (0)
vote to withdraw from the EU? 32% 44% 40% 31% 26% 28% 26% 82%: <1% 9% 0
3. Quite likely to vote for 102 12 24 16 15 21 13 40 12 50 0
Scottish independence (95) (10) (19) (11) (22) (20) (13) (38) (12) (45) (0)
12% 12% 15% 11% 14% 14% 8% 13% 3% 31% 0
2. Quite unlikely to vote for 59 6 10 6 10 13 14 1 40 17 0
Scottish independence (62) (10) (12) (6) (11) (14) (9) (2) (45) (15) (0)
7% 6% 6% 4% 10% 8% 8% <1% 11% 10% 0
1. Very unlikely to vote for 311 31 47 62 35 65 71 1 301 4 5
Scottish Independence (331) (36) (52) (68) (41) (72) (62) (2); (325) (3) (1)
37% 30% 30% 44% 33% 42% 41% <1% 83% 2%: 100%
Don’t know 97 8 14 12 19 13 30 12 8 77 0
(89) (7) (14) (12) (15) (19) (22) (9) (10) (70) (9)
12% 8% 9% 9% 18% 9% 17% 4% 2% 47% 0
Mean score 2.4 2.8 2.7 2.3 2.4 2.3 2.7 3.8 il 2.9 1.0




